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BEE = |710108 |08 |EOM L 54 60
BEE=H (710115 |15 |fHO% 25 54 16
BEE=F |710115 |[15 |{HO% LNy 52 1
M= (711102 |02 [#BO#kK B T-VI 47 -1
= (711104 |04 |5ROEE [B521-VI 46 -1
M= 711105 |05 |[RO#ZE 2 571-VI 41 -1
= |711106 |06 |FEOX] B C1-VI 54 60
= |711106 |06 |FOM SNEREHEI 56 -1
A= (711107 |07  |#ROEH [B521-VI 40 -1
= (711109 |09 |#10fA (8 571-VI 51 1
= (711109 |09 |Z10fA BEREEV VI 46 60
M= |711110 [10  |BIOHE B S1-VI 56 -1
B =H 711111 |11 | 2O B S 1-VI 40 1
M= (711111 |11 |0 BELEEV VI 46 60
= (711117 |17 |[EO#% B 1-VI 50 60
e = 711117 |17 |#E0#& ANEREEI 52 -1
= (711118 |18 |0 FI-VI 40 -1
= (711118 |18 |0 [B521-VI 40 -1
= |711119 [19  |#ROE F-VI 40 -1
= (711123 |23 |Z0Z FI-VI 40 -1
M= (711123 [23 |[EOZ B I-VI 41 60
= (711123 |23 |ZEO0Z BELEEV VI 45 60
= [711124 |24 |BEOH [B521-VI 48 -1
M= (711124 |24 |FEOHE BELEEV VI 42 60
M= 711125 |25 |[ZOR BELEEV VI 42 60
A= (711128 [28  |BHOFR HT-VI 51 -1
= (711132 [32 |BROE NRE T E 53 1
= 711132 |32 |BHOE BEREENV VI 43 60
= (711133 |33 |FEOBE FI-VI 45 1
A= (711134 [34  |EHO( BBV VI 55 60
= (711135 |35 |ZFOFE FSLI-VI 45 1
= (711135 |35 |ZFOFE BEREEV VI 54 60
R (711138 |38 |[fBO4E FI-VI 40 1
R (711138 |38 |[fBO4E (B 1-VI 47 -1
M |711138 |38 |{#O4 SNEREHEEI 52 -1
=< |711201 |01  [ZEOr% FEI-VI 51 60
=2 (711202 |02 |FHO&L HT-VI 49 -1
=2 |711203 |03  |BROfE FI-VI 47 60
=2 (711204 |04 |FEHOf= VI 55 -1
=2 (711210 |10 |ZEOX%K HT-VI 47 1
=2 (711212 |12 |EO*h FEEEV VI 44 1




FribiE T 1092 E 22 (S aa /5 5 ]

AR B yi i >y ﬁ%ﬁi\%\(-
FESE S HECZRIE R )
=2 (711214 |14 |BOZ% VI 49 -1
=2 |711215 |15 [#O0%s FI-VI 52 60
=2 (711218 [18 |SROFE HT-VI 40 -1
=2 (711223 |23 |&ROFE HT-VI 40 -1
=2 |711223 |23 |ZFEOX B 571-VI 40 60
=2 711223 |23 |[Z2O0%E ARG 51 -1
=2 (711223 |23 |20 B EV VI 47 4
=2 (711229 |29  |BHOE HT-VI 40 -1
=2 (711233 [33  [BHOTF B EV VI 45 1
=2 (711234 |34 |Zl0t4 FI-VI 46 60
=2 (711237 |37  |HO&X (B 571-VI 45 60
BT (712103 |03 |BEOX F1-VI 42 1
S (712103 |03 [BEOX B~ 1-VI 50 -1
fEHE=F (712107 |07  |FROZK B T-VI 44 -1
T (712107 |07 [FROZK B 5C1-VI 44 -1
= (712107 |07 |FROZRK P BlEAL-VI 51 -1
R (712108 |08 |EEOME HT-VI 54 1
T (712108 |08 |EEOME B 1-VI 45 1
BT (712109 |09 [FROfE (8 571-VI 51 1
fEHEE=F (712110 [10  |FROEF B T-VI 41 -1
BT (712110 |10 [FROEE (B 1-VI 47 -1
BT (712111 |11 |ZEO FI-VI 46 -1
BT (712111 |11 |ZEOE (B 1-VI 45 -1
= (712111 |11 |ZE2OE 3 BIREI-VI 48 1
EE=H 712112 |12 [#O B T-VI 55 ]
= (712112 |12 |#O B 5C1-VI 40 -1
= (712112 |12 |#O 3 FEI-VI 50 -1
= (712113 |13 |[&EOR VI 49 -1
T (712113 |13 [EOR B 5C1-VI 47 -1
fEEE=F (712114 |14 |PROR H7I-VI 42 -1
g = (712114 |14 |FROBE BRI SC1-VI 57 1
= (712114 |14 |FRORL 2 BIRE]-VI 54 1
s = (712115 (15 [EBOF HET-VI 52 1
R (712115 |15 |ZEO% (B 1-VI 43 -1
= (712115 |15 (O HLREREL-VI 53 -1
R (712116 |16 |ROFE (B 1-VI 40 60
= (712117 |17 |80 B 5C1-VI 40 -1
= 712120 [20  |#KROfE B7~C1-VI 52 1
BT (712122 |22 |ZROFF FI-VI 49 -1
EETH (712122 |22 |ZEOF% (B 1-VI 42 -1
T |712122 |22 |ZE0FF 3 FEE]-V] 47 -1
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g = (712123 (23 |E=OHL BRI SC1-VI 49 -1
= (712125 [25 |4COF HYI-VI 55 -1
= (712125 [25  |4COF BRI SC1-VI 43 -1
g (712126 26 |ROME BRI SC1-VI 48 -1
g = (712127 |27 |BEOL[- BRI SC1-VI 40 60
= (712132 (32 |EROR HYI-VI 55 -1
= (712132 (32 |EROR BRI SC1-VI 40 -1
= (712133 [33  [EOfH HYI-VI 40 -1
= (712133 [33  [EHOfH BRI SC1-VI 40 -1
= (712134 (34 |REOZ HYI-VI 46 -1
= (712134 (34 |REOZ BRI SC1-VI 55 -1
fEiE=7, |712201 |01  |fBO#F HT-VI 49 60
=2 (712206 |06 [0 H1-VI 55 -1
==, (712207 |07 |5EOMBE BRI SC1-VI 45 -1
== (712208 |08  |[EO5A H71-VI 50 -1
=2 (712209 |09 [FEOf£E HYI-VI 45 -1
== (712211 |11 |fEO5H BEEEEI 40 60
=, 712212 |12 |BPOZE HYI-VI 40 -1
== (712213 |13 |RO=E HYI-VI 41 60
= (712213 |13 |:RO%EE FL BBV 45 -1
== (712214 |14 |EHOH HYI-VI 40 60
== (712214 |14 |EHOH BEEEEI 40 60
g =, (712215 |15 |EEOkE H71-VI 51 60
== |712215 |15 |E=O%E G ReREL-VI 49 -1
== 712217 |17 |BRO% HT-VI 46 -1
== (712219 |19 |BOR HT-VI 40 -1
== |712222 |22 |MROEE HT-VI 50 -1
= (712223 23 |ROE HYI-VI 40 -1
g =, (712223 23 |0 B E 40 60
== (712225 (25 |EHOHL HYI-VI 44 -1
== (712225 (25 |EHOHL BRI SC1-VI 44 60
== (712225 (25 |EHOHL HL BBV 52 -1
= (712226 26 |BOth BRI SC1-VI 47 -1
il =2 (712230 |30 |#kO#EE H71-VI 54 -1
g = (712232 |32 |#RO3E H71-VI 51 60
== |712233 |33 |ZEOr¢ HL X ReREL-VI 49 -1
== (712234 |34 |BIOTH HiT-VI 40 -1
il =2 (712236 |36 | EOHE HYI-VI 50 -1
il =2 (712236 |36 | EOHE BRI SC1-VI 48 -1
il =2 (712236 |36 | EOE B E 40 60
il =2 (712236 |36 | EOHE HLREREL-VI 53 -1




FribiE T 1092 E 22 (S aa /5 5 ]

=R AR B i S A > gt ﬁ%ﬁ%?ﬁ(
ELaf% FESR wHERE R 4R B e
HE=F (713104 |04 |03 BRI SC1-VI 44 -1
HE=F (713107 |07 |#ROZE BRI SC1-VI 57 -1
HEE=F (713108 |08 |MROE: HYI-VI 45 -1
HEE=F (713110 |10 | 504k HYI-VI 46 60
HEE=F (713110 |10 | 504k BRI SC1-VI 44 -1
HE=HO|713111 |11 |BRO=F HT-VI 46 60
HE=F 713111 |11 |BRO= BRI SC1-VI 58 60
HE=F (713113 |13 |#EIOM H71-VI 52 -1
HE=F 713114 |14 |#OlG H71-VI 54 -1
HE=F 713117 |17 |EO# BRI SC1-VI 41 60
HE=F (713118 |18 |BROFE HYI-VI 40 -1
HE=HF |713118 |18 |BROTF B S1-VI 43 -1
HE=F (713119 |19 |30z HYI-VI 40 -1
HEZF (713120 20 |EO% BRI SI-VI 40 -1
HE=HO|713121 |21 |[FRO%% B S1-VI 45 -1
HE=F 713122 [22 | TO# BRI SC1-VI 48 -1
HE=F (713123 |23 |ZBOHEL H71-VI 40 -1
HE=F 713124 [24  |BROZ BRI SC1-VI 44 -1
HE=F 713124 [24  |BROZ HL RREL-VI 43 -1
HEZF (713126 |26 |EHORS BRI SC1-VI 58 -1
HE = |713128 [28  |EORE H71-VI 50 60
HEE=F (713128 |28 |fEORE HLREREL-VI 40 -1
HHE=F 713130 [30 |#HOR BRI SI-VI 55 60
HE=F 713131 [31  |EO% HYI-VI 50 -1
HE=F (713131 |31 |EO% BRI SC1-VI 54 -1
HE=F (713131 |31 |EO% AR E 57 -1
HE=F (713133 |33 |EHO%4% HFYI-VI 40 -1
HHE=F 713133 [33  |FBO%%E BRI SC1-VI 43 -1
HEZF (713134 |34 |EHOHE HYI-VI 48 60
HE=F 713134 [34  |EHOHE BRI SC1-VI 48 60
HEH=F 713136 [36  |#ROIl&E HYI-VI 48 -1
HE=F 713137 [37  |URO% BRI SC1-VI 56 60
HE=Z0 (713203 |03 |ZEOfE H71-VI 55 -1
HE=Z0 (713203 |03 |ZEOfE HLREREL-VI 54 -1
HE=7 |713204 |04 |BO#% AR 47 -1
HE=Z (713205 |05 JTOZ NREE 55 -1
HHE=Z (713206 |06 |5EOEN HYI-VI 55 -1
HHE=Z (713206 |06 |5EOEN AR E 55 -1
HE=Z0 (713208 |08 |70 NREE 54 60
HE=Z0 (713208 |08 7RO HLRREL-VI 56 -1
HE=7 |713210 |10 |BEO3E HI-VI 52 60
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HE=7 |713210 |10 |PBEO3Z G RelREL-VI 54 -1
HE=7 |713211 |11 |ZOmE ARt E 41 -1
HE=7 |713211 |11 |ZOHE G RelREL-VI 52 -1
HE=7 |713217 |17 |BEO#R Eipva Ayl 52 -1
HE=7 |713217 |17 |BEO#R HL X RelREL-VI 54 -1
HE=7 |713223 [23 |2 O#E BRI SI-VI 40 -1
HE=7 |713223 [23 |2 O#E AR 45 -1
R (713224 |24 |EHOEE H71-VI 54 -1
HE=7 |713224 [24  |EHOE AR 48 -1
HE=7 |713225 [25  |#ROZ H71-VI 54 -1
HE=7 |713225 [25  |#ROZ FLOREREL-VI 52 -1
HE=70 713227 [27  |BHOfE AR 51 -1
HE=Z (713230 |30 |BRO%E HLRREL-VI 56 -1
HE=7 |713231  [31 |#ROJE B I-VI 52 -1
HE=Z (713231 |31 |#ROJE AR E 53 -1
HE=7 |713231  [31 |FROJE FL RREL-VI 52 -1
HE=Z0 |713232 32 [HO#) AR E 52 -1
HE =7 [713234  [34  |&ROE BRI SI-VI 44 -1
HE =7 [713234 34 |EROE HL RREL-VI 54 -1
HE=Z (713235 |35 |HOons H71-VI 55 -1
HE=Z0 (713235 |35 |HOons AR E 44 -1
HH = 714604 |04 |5EOIE AEMRE 42 -1
Hi=F (714613 |13 205 BRI SI-VI 53 -1
EH=FH |714613 |13 |E05 EERRE 45 -1
Hi=H (714614 |14 [EEO#E HLREREL-VI 50 -1
EH=FH (714618 |18 |HEOfE EERRE 51 -1
EHH=FH (714619 |19 |=OF AEERRE 45 -1
E = [714623 |23 |ZROEE AEMRE 48 -1
= (714627 |27 | EO%E H71-VI 53 -1
EHR=H (714627 |27 | EOFE EERRE 41 -1
HH = 714634 (34 |[{LO4F AERE 40 -1
Hi = (714640 |40 |20l BRI SI-VI 41 -1
Hi = (714640 |40 |20l BEE1-VI 55 -1
HH = [714640 [40 |20l AERE 40 -1
BHE=F (714102 |02 |EO%= HYI-VI 50 -1
W= 714102 |02 |0 BRI SI-VI 40 60
W= 714102 |02 |0 RS 50 -1
W= |714103 |03 |OME BRI SI-VI 40 -1
W= 714106 |06 |EHOZ HYI-VI 49 -1
B |714107 |07 |fHOJE B S1-VI 40 -1
W= |714109 |09  |BROZ H71-VI 57 -1
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BHE=H |714110 |10 [JTOff BEFEERII 50 -1
B |714111 |11 |[FROE HL o FEEL-VI 47 -1
B |714113 |13 |BEOR B S1-VI 40 60
BHE= |714116 |16 |S0OF2 HYI-VI 40 -1
B |714116 |16 |SOOF2 BRI SC1-VI 40 -1
BHE= |714116 |16 |SOOF2 G ReREL-VI 42 -1
BHE= |714116 |16 |SOOF2 BEFEERII 47 60
B |714116 |16 |SOOF2 AR E 43 -1
BHE= |714119 |19 |20 HT-VI 42 60
BHE= |714119 |19 |20 B S1-VI 40 60
BHE=F (714119 |19 |ZROFKH BRI 50 -1
BHE=F (714119 |19 |20 PPN E L e Ve 50 -1
B |714120 |20 |E0& B FEEL-VI 41 -1
W= 714121 [21  |EOth H71-VI 48 60
W= 714121 [21  |EOth BRI SC1-VI 44 60
W= 714121 [21  |EHOth HLREREL-VI 54 -1
BH—H 714121 [21  |EHOth PPN E L e O 42 -1
BHE=F [714130 |30  |BROZ& EEPRERTIT 56 60
= |714131 |31 | FORE HT-VI 56 -1
BHE= |714131 |31 | FORE B S1-VI 50 -1
BHE= |714131 |31 | FORE G RelREL-VI 53 -1
B |714132 |32 |ZEOfE HT-VI 44 -1
B |714134 |34 |2IOE BEFEERII 40 -1
BHE= |714137 |37  |sEOM# BEFEERII 43 60
W=7, |714201 |01  |FEOZ H71-VI 51 60
BHE= |714202 |02 |BROEK AR E 40 -1
BHE=2 (714203 |03 |#O%E HFYI-VI 48 -1
B=2 [714206 |06 |E=HOHE BRI SC1-VI 58 60
BHE=7 |714207 |07 |=OE HT-VI 45 -1
BHE=7 |714207 |07 |=HOE B S1-VI 45 -1
B=2 (714208 |08 |{FOE BRI SC1-VI 53 -1
BHE=2 (714209 |09  |F40:% BRI SI-VI 56 -1
BHE=7 |714210 |10  |5EORK HYI-VI 42 -1
BHE=7 |714211 |11 |ZO¥% HI-VI 51 60
BHE=2 |714211 |11 |ZO¥% B S1-VI 53 60
BHE= |714213 |13 |Z20HL HYI-VI 52 -1
BHE=2 |714216 |16 |ZOft B S1-VI 58 -1
BHE=2 |714216 |16 |ZOt AR E 53 -1
BHE=7 |714218 |18  |FBOLE HYI-VI 45 -1
BHE=7 |714218 |18  |FBOLE HL X RelREL-VI 46 -1
W=7 |714219 [19  |BIOZE H71-VI 40 60
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BHE=2 |714221 |21 |HOZ= HT-VI 48 60
BHE=2 |714221 |21  |HOZ= B S1-VI 58 -1
BHE=2 |714221 |21  |HOZ= SEERELATE 57 -1
W=7, |714223 |23 |HGO#HE HYI-VI 40 60
W=7, |714224 [24  |SRO#F BBEI1-VI 49 -1
W=7, |714226 [26  |#ROEg H71-VI 54 -1
BHE=7 |714226 |26 |FROEH B S1-VI 40 -1
W=7, |714226 [26  |FROEg SRR E 57 -1
W=7 |714229 [29  |E=HOFh H71-VI 53 60
W=7 |714229 [29  |E=HOFh BRI SC1-VI 54 60
BHE=7 |714230 |30 |&=OHE; Eipva Ayl 51 -1
W=7 |714232 (32 |EHOf HFYI-VI 44 -1
W=7 |714232 (32 |EHOf BRI SC1-VI 53 -1
W=7, |714234 [34  |[BBOFE BRI SC1-VI 58 60
BHE=7 |714234 |34 |fBOFE G RelREI-VI 55 -1
B=2 (714235 |35 |EEOTT HLREREL-VI 56 -1
W=7, |714240 |40  |BPRO#N H71-VI 48 60
BN |714302 |02 |EHOE: EEPRERTIT 56 60
BHE=PT (714303 |03 |52OHMI H71-VI 42 -1
BHE=N  |714304 |04 [%GO%H HYI-VI 47 -1
BN |714304 |04 |MOHY HLREREL-VI 54 -1
BHE=N |714304 |04 [%GO%H EtiEsal 53 60
BHE= (714305 |05 |fEO=E EEPRERTIT 56 60
BHE=P (714308 |08 | FOft BRI 53 -1
BHE=N (714309 |09  |=0#% BRI 50 -1
BN |714310 |10 |&=OfF HT-VI 45 -1
BN |714310 |10 |&=OfF BRI 52 60
BN |714310 |10 |&=OfF EEFEERII 43 60
B 714314 |14 |£O8F H71-VI 52 60
BN |714315 |15 |{RO# HYI-VI 53 60
BHE=TN |714320 |20 |5EO% HT-VI 53 -1
BTN |714321 |21 |7RO% HL X RelREI-VI 41 -1
BHE=TN |714321 |21 |7RO% AR TE 45 -1
BN |714323 [23  [SH0%: EEEEAEE 55 60
BN |714325 [25  |SROf@ B BRI 55 60
BN |714326 |26 [HOH HYI-VI 53 -1
BHE=N |714326 |26 [HOH BRI 51 -1
BHE=N |714326 |26 [HOH BRI 52 -1
BN |714328 [28  |ZOfk H71-VI 41 60
BN |714328 [28  |ZOfk B FEEREII 50 60
BN |714328 [28 | ZOfk BRI 50 60
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W= (714332 |32 |20%9 BT V] 54 -1
B (714332 (32 |w0O$9 BN 48 -1
B (714332 |32 |08 AR E 52 -1
BN [714333 |33 |ZEOR B EE R 50 60
B (714334 |34 O FI-VI 53 60
B |714334 |34 O BT ERRRIL 50 60
BTN [714335 |35 |ZEO4E VI 40 -1
BN [714335 |35 |04 AR E 48 -1
W= (714337 |37 |3XO& HT-VI 40 -1
B (714337 |37 |XO&% BT ERRRI 50 60
W= (714337 |37 |ZXO& EEFEERII 51 60
B (714338 |38 RO F1-VI 46 1
B (714338 |38 |HROIE EFEERTI 53 60
B (714338 |38 RO AR E 48 -1
B [714339 |39 |&OF BEAEL-VI 46 -1
BEI=N (714340 |40  |E=OEB F71-VI 56 1
W= (714340 |40 [EOED BRI 53 60
FE=F (715102 (02 |20 NEEL S 50 60
HEZ=H [715103 |03 [EFO£ B SZ1-VI 40 60
HE=H 715103 |03 [$FO¥H NEREE 50 60
BLE = |[715110 [10 |#ROE [B521-VI 40 -1
FE=F |715115 |15  [5RO#M FI-VI 56 -1
HE=F |715115 (15 [5RO#Y ARt E 45 -1
BLE = [715116 [16 |fHO B SZ1-VI 40 -1
FE=F (715116 |16 [fHO NEEL S 40 -1
A= |715116 |16 |f&HO BB B 43 -1
FE=F (715116 |16 [fHO e [ PR 49 -1
EE=F (715117 (17 |#8O£N AR E 53 -1
FHEZ=F 715127 [27 |ZFROE& B S1-VI 40 -1
FEH=27 715201 |01 |fHOH F71-VI 47 -1
FE=27 |715201 |01 |fHOH B SZ1-VI 48 -1
FE=2 (715201 |01 |[fHOH R 56 ]
FE=27 [715203 [03 |&ROR F-VI 56 -1
HE=2Z (715203 |03 |&0& NEREE 57 -1
FE=2 (715204 |04 [0z FEI-VI 56 1
HE=2Z |[715204 |04 |0z BRI SC1-VI 44 60
HE=2Z [715205 |05 |#HOf# HT-VI 47 -1
HE=2Z [715208 |08 |ZO% FI-VI 47 -1
HE=2Z (715209 |09 |04 B SZ1-VI 48 -1
HE=2Z (715209 |09 |04 BRI B 56 -1
HA=Z |715209 |09  [fAIO4E R R A Py 46 -1
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BE=7 [715210 |10 |RO#% ARt E 40 -1
BE=7 [715210 |10 |RO#% R U A P 57 -1
BE=7 715211 |11  |20## HYI-VI 47 -1
BE=7 715211 |11  |20## B S1-VI 43 -1
BE=7 715211 |11  |20## AR E 40 -1
BE=7 715215 |15 |#ROH] HYI-VI 56 -1
BE=7 715215 |15 |#ROH] B S1-VI 44 -1
BE=7 [715216 |16 |#ROH] R U A P 55 -1
BE=7 715217 |17 |fR2OfE HT-VI 56 -1
HE=2 715217 |17 |f2Of% Ny 40 -1
BE=7 715217 |17 |fR2Of% SRR E 40 -1
BE=7 715217 |17 |fR2Of& R U A P 57 -1
BE=7 |715218 |18 |ROE B S1-VI 40 -1
BE=7 715219 |19 |BRO#% B S1-VI 50 -1
BE=7 715219 |19 |BRO#% ARt E 47 -1
BE=7 715221 |21 |450%t Eipva Ayl 52 60
BE=7 (715222 (22 |t&OZ HYI-VI 40 -1
BE=7 715222 |22 |tROE ARt E 40 -1
BE =7 [715223 |23 |ZO0& ARt E 55 -1
BE=7 (715226 [26 |=O#L H71-VI 56 -1
BE=7 715226 |26 |=O#. AR E 54 -1
BE=7 715227 |27 |RO= HT-VI 56 60
BE=7 (715228 |28 |H®ORE BRI SC1-VI 45 60
BE=7 715231 |31 |E&OHE B S1-VI 41 -1
BE=7 715231 |31 |E&OHE ARt E 50 -1
BE=7 (715231 [31 |EOmE SRR B 52 -1
BE=7 (715231 [31 |EOmE TR T P A P 46 -1
BE=7 (715232 [32 |&Og H71-VI 56 -1
E=7 (715233 [33 [RO H71-VI 56 -1
BE=7 |[715234 |34 |HEOFH H71-VI 56 -1
BE=7 715234 |34  |HEO#Y AR 50 -1
BIE=F |716101 |01 [£OE TR AT IRHIT 44 -1
BIE=F |716101 |01 [OE B S1-VI 45 -1
HIE=F |716101 |01 [OE BEEEs 47 -1
gl —=F |716101 |01 [HOFE AERE 54 -1
glE—=F 716102 (02 |BOE H71-VI 57 60
glE—=F 716102 (02 |BOE PRI 40 60
BE=HF (716117 |17 |20f% HT-VI 53 60
BE=HF |716117 |17 |2I0% FRATIRHIT 56 -1
HUE=HF |716118 |18 |ZOJE BEEEs 57 -1
glE—=F |716120 [20 |FEOF PRI 40 -1
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BIE=F 716123 |23 |fHO%E HT-VI 41 -1
BIE=HF 716123 |23 |0 FRATIRHIT 50 -1
glE—=F 716124 [24 |fO%FE H71-VI 49 60
glE—=F 716124 [24 |fOFE PR RHIT 50 -1
HUE=HF 716126 |26  |BRORH HT-VI 47 60
Bl —=F 716126 [26  |BROME PR RHIT 42 60
HUE=F 716126 |26  |BRORH BEEEE 57 -1
BIE=HF 716127 (27 |SRO0%% A IHIT 57 -1
HBUE=F 716128 |28  |FROK HT-VI 44 60
BlE = [716130 |30 |E=O% BEEEs 54 -1
BlE =F [716133 |33  |#kO5A PR RHIT 47 -1
BUE=H |716137 |37 |#BOJE HT-VI 53 60
BUE=F |716137 |37 |#BOJE EERRE 57 -1
glE =7 |716201 |01 |FO=E BRI SC1-VI 43 13
BlE=7 716202 02 [0 A HIT 54 -1
#lE =2 |[716208 |08 |E=HO%: B 47 60
#lE =2 (716209 |09 |HOE BRI S1-VI 51 60
#lE=7 716216 |16  |FROIE B S1-VI 47 60
glE =7 |716216 |16  |#RO(G B 40 60
glE =7 |716218 [18  |&Of B 40 60
BlE=7 716220 |20 |=OfLE A HIT 57 -1
BlE=7 716221 |21 |6Oi5 BEREE 40 60
glE =7 |716222 [22  |EHOZK B 40 60
glE =7 |716226 [26  |FBOFE PRI 47 -1
BlE=7 716227 |27 |FOF B S1-VI 40 60
BlE=7 716227 |27 |FOF BEREEI 46 60
#lE =2 (716230 |30 |ZEOE PR RHIT 53 -1
BlE=7 716231 |31 |EHO4: A HIT 57 -1
glE =7 |716231 [31  |EEO%E BRI SC1-VI 45 60
glE =7 |716232 [32  |EEORF B 52 60
#lE =2 (716239 |39 |£&0%iE BRI SC1-VI 49 60
BlE =P (716301 |01  |BRO- H1-VI 47 60
BIE=F 716307 |07  |FBOZL HYI-VI 40 -1
BlE =P [716308 |08 |E=HORF PRI 48 -1
BlE =P (716309 |09 |FFOME H71-VI 54 -1
BlE =P (716309 |09 |FFOME PRI 53 -1
BIE=R 716312 |12 |EO[FE HT-VI 40 -1
glE =R 716314 [14 |ZOXK H71-VI 43 60
BIE=F 716317 |17  |#RO#k HI-VI 54 60
BlE = (716318 |18  |&O®E) H71-VI 44 60
BlE =P (716319 |19 |FROfE H71-VI 49 60
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BlE =K/ 716321 [21 |BROE HYI-VI 40 60
BlE =P (716323 |23 |fRO£N AERE 50 -1
BlE =N 716324 [24 |FEOE H71-VI 54 60
BlE =N 716324 [24 |FEOE PR RHIT 58 60
BlE=F (716325 |25  [|#OE H71-VI 50 60
BlE =P (716328 |28  |EOHL PR RHIT 44 -1
BlE =P (716328 |28  |EOHL BRI S1-VI 42 -1
BIE=R 716329 |29 |&=OkE A IHIT 51 -1
BlE =P (716330 |30 |ZEOR HYI-VI 43 -1
BIE=R 716332 |32 |5EOIS HYI-VI 47 -1
BlE =P (716332 |32 |5EOf& BRI 50 -1
ERE=F |717103 |03 |#RO#E EERRE 50 -1
HE=H (717121 21 |EBOzx BRI SC1-VI 40 -1
K= (717124 |24 [PRO% HYI-VI 50 60
BER=H (717136 |36 | FEO#H BRI SI-VI 41 -1
HER=H (717136 |36 | FEO#H AEMRE 50 -1
HR =7 [717205 (05  |BEOKL BRI SC1-VI 40 -1
HR =7 [717205 |05 |BEOMKL H71-VI 54 -1
HR =7 [717205 |05 |BEOKL AR E- 48 -1
HR—=7 |7117206 |06 |5EOME H71-VI 53 -1
HR—=7 117214 |14 |5BOM& HYI-VI 56 -1
&=, (717215 |15 |ROZE BRI SC1-VI 50 -1
EE=7 (717219 |19 | FO# HLI-VI 52 -1
Eim =2 (717220 |20 |F4OME BRI SC1-VI 52 -1
Eim =2 (717220 |20 |FOME H71-VI 54 60
&=, (717225 |25 |ROE BRI SI-VI 43 -1
&=, (717225 |25 |ROE H71-VI 54 -1
Hm—=2 (717226 |26 [BOFE HLRREL-VI 53 -1
Hm—=2 (717228 |28 [EHOFH HYI-VI 56 60
HR =7 (717235 [35  |foO#F HL RREL-VI 45 -1
JE=F (718106 |06  [EEOC AR 49 -1
SNE=F |718110 |10  |FROEE AR E 55 -1
SNE=F |718127 |27  |fHOME HL 57 60
SRE=H [718129 [29  |FBOFE HiL 40 60
SRE=F (718129 [29 [FO& e PR A 40 60
JME=7 (718211 |11 |ZEORd HiL 53 60
JME=7 (718211 |11 |ZEORd e PR A 40 60
JNME=7 (718212 |12 |&OF HL 50 60
JNE=Z (718216 |16 |BRO#H E75%8 40 -1
JME=Z [718216 |16 |BRO#H BEI-VI 58 -1
JNE=Z (718225 |25  |#ROZR HiL 50 60
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SNeE=7 718227 127 |BOME X 50 60
seE=Z 11829 | |rom A Eetie 56 60
seE=7 111820 |9 ko |w 57 60
SNE= (718233 |33 FOF] gy 50 60
SNE= (718235 |35 EHO#Y Fag AR E]- 50 60
= 719211 |11 |BHOEY BE 54 -1




